2= AR FRITEDIERFRE (Fr274F6 A0R R E)
[#HER] (WAL Pk, TH)
< 4¥ FEA~T T o e et |
== A 352 574,700
S X 52 P4 He 280 562,250
S 52 WA Pl He 72 12,450
[A &R]
[(FEFEILE] (BN 74, M)
#HRAFH H KEA ﬁa‘_ﬁ\ﬁ{ﬁmﬁﬁﬁm - " Vi - —
F & KA KGR IR pSEL F & KA
8/1 |8A1AZN 1 5001  HREEEE  |wRyRTHT 1 500
H21 8 /9~ 10| s o 5 gk 014 446,800 VA Rk B ?E&T L%Kili\ {7 FH T 202 428,800
B 55 |SER, gk 12 18,000
N1 215 447,300
W (IndlTh 1 500
H23| 9/3~4 | BRH 125 53 8 9,500 Ab#EEE  |WulfhTH 6 8,500
HRREE (AR 1 500
/N F 8 9,500
2/2-18 |2 A FH& 3 8,500 fH J& |EEMT, BriERET 3 8,500
H24 o Btirg  |JEIR T 6 3,000
/3RS ° 1000 FEHREE |-, REEH 2 1,000
/AN 11 12,500
4/13 | EEEIRETHHE 26 56,600 ¥ BE |UNASTH. BREKTH 26 56,600
H25 0/16 | e s m s ; 12.100 iti%\ﬁz.i =V Nl 100
W (&l 2 12,000
N1 29 68,700
2/14 |2HF=E 1 6,000 B (T 1 6,000
= |ZHEEX 1 250
- 8/10-16|8 A Z= My 13 17,500  Brpbde  |FEHH 1 6,000
W | PRE 11 11,250
10/13 | REF 195K E 2 5001 R B |UNARTH 2 500
12/17 |5f RS 5= 1 250  HHEREE  |AEREKTH 250
N1 17 24,250
=} S 280| 562, 250
(R ERILE] (BN 7%, TH)
B e TG PRI | SN —
K & KA KGR IR R PSEEL] K & KA
HEEEE T, Ead 31 4,650
193 9/3~4 [BRE 125K E 42 6,700 JbFEEE WU, ONvE TG, £ HT 6 1,200
R (AR 5 850
9/20 |[HRE155KFE 5 750 ¥ O |IREKTH 5 750
/N 47 7,450
P P ; 650 e B EEHIX# - 1 150
H24 FEHEEE |-, HEEH 2 500
6/19 |HREE4ZHE 1 150  HERE (IR 1 150
/N E 4 800
Hor 4/13 [RBEZERETHHE 7 1,750 ¥ B [UNAST, IREK T 7 1,750
9/16 |HREEF 185K E 3 800 W | 3 800
/N E 10 2,550
8/10+16|8 H ZEFy 5 7 1,050 i \F q:y%% 1 150
- B | 6 900
9/11 [9H11HZEMKE 1 150  Bxbde  |BHFF 1 150
10/13 [ERE 195K FE 3 450 R OB | 3 450
/N 11 1,650
=} 5 12 12, 450




